The differences between Communism and Capitalism

Communism Capitalism
° Everyone is the same (no more rich, . People earn wages for their work
middle class & poor). We are all (these wages can vary depending on
workers. the employer & nature of the work).
Emergence of rich, middle & lower
. No more private ownership - classes.
everyone works for the collective
good. . Businesses are free (to a large degree)
to conduct their own affairs -~ little
. One-party government run by the government involvement. “Free
workers. Enterprise” is allowed.
. Governments traditionally formed by
various political parties who are
elected by the people.

If Tim Horton’s was a Capitalist Organization

If Tim Horton’s was a Communist Organization everyone would get to choose if they wanted a

everyone would get a Honey Dip donut at the door different type of donut. If they had more
(no questions asked). money they might buy a coffee, mﬂvow—nm.




